ﬁi\. @ (@m Vereinfachung von Exponentenausdriicken (2
@ =i (R ez

= T Variablen)
Name: Datum: Ergebnis:
A ) 20 00 D
9% p ()
6x(_6) X y4(x4 X y4 )(_3) 6x(_5) X y(_S) (x(_l) X y6)2

D)2y

1% 7% () P )Y 35 OOy
62 x 123 x 1Dy 73 x YD x5S
9 x (P (D)3 5D 5 D63 x D))
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Vereinfachung von Exponentenausdriicken (2
Variablen)

Name:

2 x )
9 x y3(x3)*

pa

Ox?

6x(—6) % y4(x4 x y4 )(—3)

D)2y
6

x16y10

1% 550 )(—2) 3 (yZ)(—l)

y3

X2

6)(?2 % yZ(x3 % y(—12))4
6X14

7

9 x y4X5 (XS )ZX(_S) 0}(—1))3
9x12y

Datum: Ergebnis:

2070 x O x 3D
2

x12y9

635 x I (D x 6y

3 x y4x6 (X6)(_3)X(_1)(y(_3))5
3

x13y11

78 x YD x5y

7y
x3

53D x D3 x DY)
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